L’ T, Eamgrgmq-q -Em e ey yRa & | 1. Appam, Puttu and Idiyappam - food items,
FeTE AR belong to which State of India ?
a (1)  Punjab
(2) Gujarat
A (3) Orissa
@) hfswm (4) Kerala
(4) & (5) Not Attempted
(5) W AH T umA |
2. ; i : 3
2, ST F P ‘:J:’)l'uchlgggr did India attain freedom ?
(1) 1930
2 1950 (2) 1950
(3) 1947 (3) 1947
(4) 1951 (4) 1951
(5) IR AH = (5) Not Attempted
3 711'“;"1"1:{;;201 1 & 38R, WA F1 QeRa T 3.  Asper Census 2011, the literacy rate in India
.0 is:
(2) 78.0 (1) 73.0
Ei)) gg.g (2) 780 -
. (3) 88.0
(5) IO AE < =Ry | (4) 83.0
o umE SR (5) Not Attempted
' (1) 6371 f&. 4. What is the radius of the earth ?
(2) 8371 fwH. (1) 6371 km
(3) 9371 fFm. (2) 8371km
@) 2371 () 9371 km
(5) IR E T (4) 2371 km
‘ (5)  Not Attempted
5« ‘fafen yra #1 sfoem’ T & oraw w9 2 |
(1) < fa 5. Wk:lc.) is the author of the book - ‘A History of
(2} aﬁ:r%re_rq British India’ ?
(3)  ifE e (1) James Mill
@ A ws (2) Warren Hastings
& =|§T H (3) Lord Mountbatten
o (4)  Lord Curzon
6 o te—y ¥ w0 H Frei (5)  Not Attempted
?
e 6.  Who served as free India’s first Governor-
(1) . TS . General ?
(2) TR FeAIE 9o (1) C. Rajagopalachari
(3) i 3= (2) - Sardar.Vallabhbhai Patel
(4) AATE A6 E‘g{;\- : (3) M_aulana Azad
5) T (4} Jawahar‘Lal Nehru
e — £ : . asﬁam (5)  Not ! NotAttempted
47 AT
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7, CEAMHEE: 7. ‘CE'refersto:

(1) @ 3 e (1) Coastof Egypt
FA wfiie (2) Common Estimate

(21 £ (3) Common Era

) s (4) Casual Era

) FgE (5) Not Attempted

(5) IO FE T =wR

s 8. ‘Mission Indradhanush’; launched in the year
8/ ad 2014 ¥ WiV §U ' sifvam s R f 2014 is:

(1) fwem =t fafvs wan #) smavawasi #t g (1) To provide information, commodities
%gmﬂ aﬁjli?‘lﬂ'l St e | and service to meet the diverse need of
frf : adolescents.

(2) TR S A T S TR St (2) To cover children who have been
Tt em g2 T A afntea w1 partially or not \:'accinat;d during

: - ine i tion rounds.
3) TS H fwrd qe qorEgel @ routine immunisa '

. m‘mmﬁ m (3) To provide affordable and quality

F I healthcare to the rural population.

(4) =1 1 e T (4) To provide education to the deprived

(5) I AE 1 9Ed | children.
(5) Not Attempted

9 fava vate feam s v €

() S+ 9. World Environment Day is celebrated on :
(1) 5% June

2) 7 :

e i ; (2) 7% June

el ) (3) 5t July

(4) 7 9@ (4) 7t July

(5) SHTE & A | (5) Not Attempted
19 TN m?ﬂ? i feqn TR T E 10. The earth is surrounded by a layer of gases
(1) 3= called : -
(2) g (1) Ozone
; 2) Environment
(3) @gHEdA (
4 EEEi| (3) Atmosphere
* S_— A (4) Climate
(5) 3O Rl <A e | (5) Not Attempted
1,/ T (MAA) FTiws &1 famga =9 #1 € ? . ,
) of a1 o AR (m .“IFII_ZEWH' ) : at is the full form of ‘MAA ]_:lrogrammc?
m T - YA (1) Mother’s Absolute Affection

(@) HTE A (R T (2) Mother's Absolute Attention

(3) i A faem (WL U HErTde) B (3) Mother And Adolescent

(4) fanfed 4w v dad @ (s (4) Menstrual hygiene Among Adolescent
FITS 27 Aeede Ted) girls

(5) I 8 = = | (5) Not Attempted

VNATH/G1 % T & 110 ZTel / SPACE FOR ROUGH WORK Page 3
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12 ‘rr’ Fereffaa § @ g @ & 8, f8 oEg

T g S ?

(1) =&

2) g9

(3) 3mpEw

(4) SE

(5) W TE T AR
13, wftrn seenfian favafaemes Fel st € 2

(1) 3¥irTg

(2) s

(3) fee=it

@) TETS

(5) W R <A 9w

14, fr=fafad @ & FR-w FrwE ot T i
el ® o= foran T fowss sfafa =i 1w

T3 9 weE R S € ?

(1) e garen

(2) WG WISH

(3) &3 F=nE, = v

(4) w4 foen sAfimm

(5) SO AE < A |
15~ 'dig’ vd 9Ra & form = § A s R ?

(1) FARH

(2)

(3) IWUEH

(4) =H

(5) ST T =@wRd |

16¢ 3 foet =afam 1 ga FM FE 98 2, @ I9F

@ F1 FfaM gaF g fheet fovan i €, s 9
Siifea 7€ 1@ a1 g% wiwan Feard €

12.

13.

14.

15.

16.

‘Lugda’ is a kind of which one of the following
that is worn in Chhattisgarh ?

(1) Saree

(2) Dupatta

(3) Ornament

(4) Footwear

(5) NotAttempted

Where is Jamia Islamia University situated ?

(1) Aligarh

(2) Bhopal

(3) Delhi

(4) Lucknow

(5) Not Attempted

Which one of the following refers to the
programme introduced in all government
elementary schools to provide children with
cooked lunch ?

(1) Mahila Samakhya

(2) Mid-day.meal

(3) Beti Bachao, Beti Padhao
(4) Sarv Shiksha Abhiyan
(5) Not Attempted

‘Bihu’ festival is celebrated in which Indian
State ?

(1) Karnataka

(2) Punjab

(3) Uttar Pradesh
(4) Assam

(5) Not Attempted

If a person’s kidney stops working. They
cannot survive unless their blood is filtered

- ‘;)ly; art;:ﬁcialtl.ddney. This process is called :
S xcretion
2 eafafag foa
. (2) Dialysis
(3) W= .
(3) Transpiration

(4) e ‘ (4) Elimination

(5) S TR < AR | (5) Not Attempted
VNATH/G1
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17, Frefefea i 4w i s 8

17. Which of the following is not a terrestrial

(1) e habitat ?

(2) HERE (1) Pond

(3) wuiEd (2) Desert

@) "EEdem (3) Rainforest
(5) SO AE 1 |\ | (4) Grassland

(5) Not Attempted
18, TEAWM & TH.3TE. 57 T &2

(1) ™ 3 18. The SI unit of mass is :
) fwemm (1) gram

3) URE (2) kilogram

@) ST (3) pound

(5) IR TE & i

(5) Not Attempted
19¢ T T WA TV | = A w1 gt wEy

19. A boy is standing at a distance of 50 cm from
|
ML St & < foeef o &t ? the plane mirror. What will be the distance
(1) 100 Tz between the mirror and the image ?
2) 25#HI= (1) 100cm
(3) 50 I (2) 25cm
(4) 75 "I (3) 50cm
(5) W TE TR | (4) 75cm
(5) Not Attempted
20 F Whra § Fum & e fHE
T i ATEYIHdT T2l et €1 20. No medium is required for transfer of heat by
the process of i
1) fafew
() (1) Radiation
(2) A
. (2) Conduction
i) S (3) Convection
(4) STEERgSE o
(4) Transpiration
(5) 3R T <1 R (5) Not Attempted
21 | B e drfEl
d L AR 2. ___ and are water borne
4 diseases.
(1) <2EwEe 3 af=sfea (1)  Typhoid and Meningitis
(2) ab-ad siafaw (2) Beri-Beri and Dysentery
(3) TRl SRS (3) Scurvy and Cholera
(4) e eiv fened (4) Polio and Rickets
(5) SO AE S =R | (5)  Not Attempted
VNATH/ G1 I P14 % feTu 771 / SPACE FOR ROUGH WORK Page 5
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23~ Frfefea = gitfea =% 22. Match the following :
(N () m (m
(A) = () HHSREA (A) Lamina (I Weak stem
B) wgd (1) iR (B) Petal () Ovary
(C) wHHFm (1) vt (C) Pistil (Il) Leaf
(D) faadi & (V) T (D) Creeper (IV) Flower
(1) (A)-(1m), (B)-(Iv), (C)-(11), (D)-(1) (1) (A)-(m), (B)-(IV), (C)-(II), (D)-(I)
(2)  (A)-(111), (B)-(11), (C)-(1), (D)-(IV) (2) (A)-(II), (B)-(IT), (C)-(I), (D)-(IV)
(3)  (A)-(IV), (B)-(I1), (C)-(111), (D)-(1) (3) (A)-(IV), (B)-(IN), (C)-(1), (D)-(T)
4 (A)-(1n), (B)-(111), (C)-(1V), (D)-(1) (4 (A)-(I), (B)-(111), (C)-(IV), (D)-(1)
(5) S TE < AR | (5) Not Attempted
23, I FHH F FHRO A-9 SEL G €1 | 23, Deficiency of causes beri-beri |
(1) fa=fima disease.
e (1) Vitamfn A
(2) Vitamin Bl
I i (3) Vitamin C
(4) fe=fF D (4) Vitamin D |
(5) I A A | (5) Not Attempted |
24, frefafaa § & &7 & wod F R TEE? | 54 Which of the following is not the characteristic
(1) W (fe) @i safeafa of fish ?
2) firer 1 safeafa (1)  Presence of fins
3) et 7 s @ ST T I (2) Presence of gills . |
@ 3 T e R s jz = (3) Long backboT:e with cylindrical boﬂf)"
s (4) Head and tail smaller than the middle
SRR T 2 portion of the body.
(5) IR TE A A | (5) Not Attempted
25, Fensfeq A’ A FFRT g 25. Hepatitis ‘A’ is caused by :
(1) fam (1) Bacteria
(2) feamg (2) Virus
(3) aH (3) Fungi
) P IEEIEsll (4) Protozoa
(5) W & & = | (5)  Not Attempted e '
rrp—re 2% @l % fe10 22Tl | SPACE FOR ROUGH WORK page 8
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26, YFHIT

27,

28~

29.

¥ @ o €1
0|

vargAfad
ARSI

=

I TE 1 =@ |

(1)
()
3)
(4)
(5)

frafafea ° ¥ fras 3areA § @ &1 yam fea
A e ?

()

(2) ifdisE

(3) Fchiew

(4) EESEIE T
(5) SR TR = |

T4 2016 ¥ YRd §&ER A e e
sy v ® T st=ia Sfaa aifes °«1 faem

& foran T %1

(1) S=Een

(2) 3sH

(3) W= WG

(@) =IH T

(5) SR A o = |

Wy - 14 fed 7 faga sagdl 1 @ - 1 H fag g

I Hehdl 9 FHIGA HITT :

w-1 wWY- 11
(a) foga @@ m A+~
®) ‘@’ feafa ¥ feaw (1) _@
(C) fagaaea 1111 T
(D) F=d wv) —f-
nﬁﬁmgﬁq

(1)
()

(A)-(I), (B)-(11), (C)-(I11), (D)-(IV)
(A)-(I111), (B)-(1), (C)-(11), (D)-(IV)

26.

27.

28.

Earthworms breathe through their

(1) Lungs

(2) Tracheae

(3) Gills

(4) Skin

(5) Not Attempted

Yeast is used in the production of :

(1) Sugar

(2) Oxygen

(3) Alcohol

(4) Hydrochloric Acid
(5) Not Attempted

In the year 2016, the Government of India has
initiated a mission called under
which a proper Sewage disposal have been
started.

(1) Ujjwala

(2) Udaan

(3) Swachh Bharat
(4) Namami Gange
(5) Not Attempted

Match electrical component given in

Column - I with the symbol given in
Column -1II:

Column -1 Column - II

(A) Electric cell () —

(B) Switch in ‘ON’ (11) @_
position

(C) Electric Bulb (1) e

(D) Battery vy —-

Choose the correct option :
(1) (A1), (B)-(I1), (C)-(I11), (D)-(IV)
(2)  (A)-(Im), (B)-(1), (C)-(11), (D)-(IV)

(3)  (A)-(IV), (B)-(1), (C)-(11), (D)-(111) (3)  (A)-(IV), (B)-(1), (C)-(1T), (D)-(I1T)
(4)  (A)-(IV), (B)-(110), (C)-(II), (D)-(I) 4 (A)-(IV), (B)-(I11), (C)-(I1), (D)-(I)
(5) SR TEl < @ | (5) Not Attempted

VNATH/G1 %6 @1 o feTe Zermet / SPACE FOR ROUGH WORK
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80, vgsT F1 & o o Feemn & faed wgst w)
TR T TRAT I E?
(1) ==
(2)  wfafean s
(3) T
(4)  Fgtam
(5) S E & =R

WE T A, B, C, D 991 E 3W %1 3iR g o3%
ﬁmﬁﬁgﬁ,éﬁﬂmqﬁ%ﬁmmﬁﬁu
‘C, E'H T AN A, Fa sind) A sk D F
EEEACEE LI o prae e

(1) E
(2 C
3) B
4 A
(5) WA e =R |

A 37T STerl & WE @ sroratiyd w9 § e T
€1 Hensll & 39 T & T Ft o SEn
Herl 1 Fafed F W T Aefqof g a7 |

C P K T 0 E
1 2 3 4 S 6

(1) 3,51,4,2,6
2 2,1,5,3,6,4
3 2,51,3,6,4
4 4,1,5,2,3,6
(5) I E T ARG

33,/ WM Q, RFPFFEHF WE ¢, A Q, R A fFm

30.

31.

32.

The property of metals by which they can be _':
beaten into thin sheets is called :

(1) Conductivity
(2)  Reactivity

(3) Ductility

(4) ' Malleability
(5) Not Attempted

Five children A, B, C, D and E are standing in
a row, facing North but not necessarily in the
same order. ‘C’is to the right of ‘E’ and to the
left of ‘A’. ‘A’ and ‘D’ have one child between
them. Who is in the middle of the row ?

(1) E
2 C
3 B
4 A
(5) Not Attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly will form a meaningful word.

C P K T O E
1 2 3 4 S 6

(1) 3,51,4,2,6
2) 2,1,5,3,6,4
3) 2,5,1,3,6,4
4 4,1,5,2,3,6
(5)  Not Attempted

R defa & ? 33. Eé"?;li:t:;ott:g‘%f son of R’s son, then how is
(1) 3 (1) Son
(2) =T=/A (2) Uncle
(3) U= (3) Grandson
(4) = /T (4) Cousin
(5) I TE T AR | (5) Not Attempted
VNATH/ G1 % o1 % fo70 721 / SPACE FOR ROUGH WORK Page 8
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34, -4fc fardt ad § 25 37T FI AR §, A g wEA § | 34.  If 25 of August in a year is Thursday, then
.. CE? how many Tuesdays will be there in that
' month ?
(1) 3
(1 3
@2 S
@ 4 4 2
4 6 B 4
(5) IR TE < = | 4 6
; (5) ' Not Attempted
35, A Fe A 3w e A e 1 sfvem frgme ) fg
% F(-ﬁ b §l1‘€n%'ﬁ‘ E”.“ 94 qedi | 35. Two statements are given, followed by two
fim € =i 7 v 29 B, Folg =% fw EF'T"{-'GT/"@ conclusions I and II. Assuming the
ferd o T el 3 SR R adTa w9 Y freem statements to be true even if they seem to be
g/ €2 at variance from the commonly known facts,
) decide which of the conclusions logically
wgT: follow/follows from the given statements.
[t SR §@| Tl Statements :
FO 3.—‘?' m% | All animals are dogs.
forend - Some dogs are dangerous.
L 9l S G ¥ SBETAI]
o ; 11 i i
L $3F 1 L All animals are dangerous
1) 3 Prepd 1 F Y II. Some dogs are animals.
(1)  Only Conclusion I follows.
(2 Faa Frerd n feam 2 o I
- 2 nly Conclusion II follows.
3) frewd 1 3R 1 ST feherd €1
(3) Both Conclusions I and II follow.
@) 7 frerd 1 3R A € 1 e € _
. . (4)  Neither Conclusion I nor II follows.
I |
) e (5) Not Attempted
36, | yehm feheirdiex 1 deia gt 4 €, 36l yehr A
Rrgd wafa &2 36. Kilometer is related to Distance in the same
' way as Newton is related to :
(1) OH (1) Acceleration
@ =3 (2) Density
@) = (3) Force
(4 WA (4) Momentum
(5) W T < A | (5) Not Attempted
VNATH/ G1 % B & fo1w Time / SPACE FOR ROUGH WORK

Page 9

o N, T T (1 (P T . o e e T T, WL T TN PRk e

Downloaded from www.cclchapistagnen with CamScanner



37, @ T sfEel 1 S 92 T R : 37. Find the next term of the series :
11, 12, 16, 25,41, __? 11,12,16,25,41, _2
(1) 65 (1) 65
2
% 106 @ 66
(3) 69
4 72 =), 6
4
(65) T R e
(5) Not Attempted
38, fawm =1 997 wifew .
) 38. Find the odd one out :
1 Ginger
(2) TR W 2
(2) Carrot
3
S (3) Potato
() (4) Tomato
(5) ST < WA | (5) Not Attempted

3?/' afe & fAfvem FeHM H ‘COVET @ FRYHW’ 39. If in a certain code, ‘COVET’ is written as

foran sman &, @ 36 w1 § HIDE’ # 1 foan ‘FRYHW’ then how will ‘HIDE’ be written in the
S ? same language ?

(1) KLEF (1) KLEF

(2) KLGH (2) KLGH

(3) KLEI (3) KLEI

(4) KGEF (4) KGEF

(5) A T AR | (5)  Not Attempted

40, % Afd 39 fom § g2 W‘%'EEI g 9 m_'i 40. A man is facing North direction. He turns
faen H 135° 42 91 €, 3% 9 Sferomad fewm d 135° in anticlock-wise direction, and then 90°

90° T Il €1 379 IHH e fra fem 4 22 in the clock-wise direction. Which direction
f is he facing now ?

1 (1)  North-East

(2) W (2) North

(3) I (3)  North-West

(4) fEm (4) West

(5) SWE & A | (5) Not Attempted
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a1l 17 W& M T 720 H =1 ;
;/wglﬁ Bt ¥ g A B i % | 41. On selling 17 balls for ¥ 720, there is a loss
TH A HF HFI A R : eq_ual to the cost price of 5 balls. The cost
(1) Z 45 price of one ballis :
20 TS0 (1) 45
(3 TS5 (2) ¥50
(4) X60 3 %55
(5) ST & = | 4) 60
(5) Not Attempted
43 I45—[28—37— (15—} =38 2, @ x T
¥ 42. 1f45—[28—{37—(15—x)j]=58, then the value
(1) —29 of xis:
(1) -29
@ -9 2) -19
(3) 19 )
o -
I
©) A I (5) Not Attempted
43/ ATl Be‘ hae: T 22,500 dar¥ 35,000 flaeis, | 43. A and B started a business by investing
TS AR T fasan| T 27,600 #graamﬁ' B &Il 7 22,500 and ¥ 35,000 respectively. Outof 2
qm T : total profit of T 27,600, B’s share is:
(1) 10,800 (1) : :ﬁgg
(2) 14,400 (@) . i
3) ¥16,800 (3) . 16, -
@) ¥19,200 (@) leftt .
bt e
(5) I & e | (5] Notawene
2 2
+ Y ie-
2 ik 2 . 44. If X = 1 , then the value of x is:
44. z:rﬁ:f_=l%,m_"_z_i_£5ﬁﬂ1?lﬁﬂﬂ. = g FE
Yy 3 x- -y
: - 10
- 10 ( —
) 4
(2) >
5 —_
2 7 2
-5
-5 B 3
@ 7 4
oo
@ =5 @ 3
. - - (5) Not Attempted
5 I =GR ROUGH WORK Page 11
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as, 3-37%19 Wl 7€ W 3R 4-iFg gag @gi wem | 45.  The greatest number which divides the |

=1 fawfom w0 arch gad CEik: e k8 %l-.;?gt;i‘:s;ui;gi%itc:;:ﬁ; f': :and e !1
(1) 3 (1) 3

(2) 7 2 7

(3) 8 (3) 8

4) 9 4 9

(5) W TE I uw )

(5)  Not Attempted

46, 2 H@msH H HCF 28 £ 3it 399 LCM 336 %1 | 46. The HCF of two numbers is 28 and their LCM

Ife T g 112 g THO HEem Bl is 336. If one number is 112, then the other
number is :

sl (1) 34

(2) 64 o -

(3) 84
(3) &4

(4) 92
@) 92

(5) SWEH T AR

(5) Not Attempted

4';:7 T s #1 F sget = 4 5 S sfuw ¥

47. The radius of a cylinder is 5 cm more than its

. A2 9 T ww TS e 792 i ddnde £ A height. If the curved surface area of the
T A (7 G ) g cylinder is 792 cm?, then the volume of
cylinder (in cm3) is ;
1 7
| (1) 5712 (1) 5712
5
(Gl e=34 (2) 5244
3) 5544
Gl (3) 5544
4) 5306
* (4) 5306
(5) ST TR < = | (5)  Not Attempted

48,7 T TH 550 HiX F1 ¢t 1 farfe H 73 Fwen & wafw | 4,

A truck covers a distance of 550 metres in
F 99 33 fE . Fi g 4s e i st 31 o= 1 minute whereas a bus covers a distance of

i w A T & - 33 kms in 45 minutes. The ratio of the speed
of the truck to the speed of the bus is :
(1) 3:4 (1) 3:4
(2) 4:3 2 4:3
(3 3:5 3) 3:5
4) 5:3 . @4 5:3
(5) I E o =wed | (5)  Not Attempted
VNATH/G1 T B & 70 Tt/ SPACE FOR ROUGH WORK
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4yﬂﬂ@nq‘2:3%aquﬁ§mﬁ:m&lmzsﬁ, 49. Two numbers are in the ratio 2 : 3. If their

1 9 e gt sum is 125, then the numbers are :
(1) 20,30 LU

2 32,78 (2) 32,78

3) 50,75 3) 50,75

(4) 24,36 4) 24,36

(5) SO El S =ed |

(5) Not Attempted

Ife 25 X !
50~ 1+ — =1+ = & 9 x ¥ 9H 2 : 50. If 25 _ 14 % . thenthevalueof xis:
1+ 1
144 12 144

12
g . 1 1

3) 13 €

@ 17 ) 13

(5) SWTEMERAl ¢ AT

(5) Not Attempted

51 YEKR - | & 919d F1 ged 2 15 Ui e € safs R, : : B
T - 11 F 99 i . e cost of type - I rice is ¥ 15 per kg and o
i “:ﬁ _,WW?_Z_O‘;% &1 e type - II rice is ¥ 20 per kg. If rice of both
T YR & =redl 1 2 : 3 H fodm TR, @ fagm

types are mixed in the ratio 2 : 3, then the
1 9fq e T T cost price per kg of the mixed variety of rice
(1) T18 =
2 219 i T8
3) 218.50 2 19
(4) T19.50 (3) T18.50
(5) W& < =Ed | (4) T19.50

(5) Not Attempted
52,/ T FHA H A, B | 20% %1 1@ & €1 e A
fFfiFdF: 7, R AR s e, B sd @ | 52,

A does 20% less work than B in the same

&1 frda 993 9 g0 =3 grom 2 time. If A can complete a piece of work in
" 7' hours, then B can do it in :
W S‘HE‘ (1) 5Shours
@ SvEe (2) 5% hours
@) 6% (3) 6 hours
(@) 6% (4) 6% hours
(5) IR TE N = | (5) Not Attempted
VNATH/ G1 % 1 & feT0 F21e / SPACE FOR ROUGH WORK Page 13
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53 et s 3 Faep ) @ qen awe way: | 53.  If the length of the diagonal ang the areg of
rectangle are 25 m and 168 m< respectij
;5 wiex qen 168 =f witex ¥, < A & T S0 then the longer side of the rectangle is :
' (1) 12m |
(1) 12 |
2 17m
(2) 17 .
3) 24m
(3) 24 i
4 3lm
(4) 31
(5)  Not Attempted
(5) I TE =R
. 54. At what rate of simple interest will a sum
59 RV =9 FT g o | 0 T 12 6t e 2 money doubles itself in 12 years ? ;
y
T € S § 2
1
8=-%
1) 8l e
4
1 2 8—1-%
2 8=% @ 3
3
3 8=% @ 8%
(3) 2 2
@ 9Ly 4 91y
2 2
(5) SR T TR | (5)  Not Attempteq
55 ¥ TF {a § Theq F U WS wlew T ww 5 | 55
> s - Arun buys a paj
20% 1 fae @1 1 42 364 2 1,600 feu iy 3 the discount g?:;; (:: ;EE:}&SI? :hi- wi&:ﬂ"ﬂ
- . = . . 0. am
q FA-1 U0 39 Sy F S sifra ey E_?Y $15%1,600, then which of the followingi
%) € marked price of the pair of skates ?
(1) 21,280 (1) %1,280
(2) 1,600 (@) 1,600
B) 1,920 B) 1,920
 *2,000 4) 22,000
5) IWE |
VNATI:: G1 sk T ol
TG S
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56~ Choose the correctly spelt word.

(1) humorus

(2) humorous

(3) humoros

(4) humarous

(5) Not Attempted

57, Choose the alternative which best expresses

the given sentence in Passive Voice.

The accountant took the cheque from the

customer.

(1)  The cheque is taken from the customer
by the accountant.

(2) The cheque was taken from the
customer by the accountant.

(3) The customer was taken the cheque by
the accountant.

(4) The cheque had been taken from the

customer by the accountant.

(5)  Not Attempted

58, In the following question, the first and the last

part of the sentence are numbered S; & Sg,.
The rest of the sentence is split into four parts
and named P, Q, Rand S. These four parts are
jumbled. Re-arrange them in correct order.
S, - Even today in many countries

P - neglected and there are far

Q - women continue to be

R - who have had the benefit of

S - fewer women than men

Sg - education and vocation training

(1) PQRS
(2) QPSR
(3) RQPS
(4) -SQRP
(5) Not Attempted

59. Change the following sentence into indirect

speech.

Shakti said to his friend, “Look out! There is

a snake behind you”.

(1) Shakti told his friend to look out as
there is a snake behind him.

69

61~

5%

Pick out the part of the sentence which has an
error. If there is no error, your answer is (4).

This is the third communication I have sent /
(A)

and I am much surprised /
(B)

at receiving no answer ,
(€

(1)
(2)
(3)
(4)
(S)

Fill in the blank with suitable alternative.
You will not overtake him unless you

(A)

(B)

(C)

No error

Not Attempted .

(1) sleep

(2) walk quickly
(3) play

(4) reading

(5) Not Attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was

a white elephant ,

(1) very large

(2) useless

(3) very comfortable
(4) collapsing

(5) Not Attempted
Find out the antonym of frequent’.
(1) rare

(2) return

(3) fear

(4) alarm

(5) Not Attempted

Find out the synonym of the underlined word
in the following sentence.

2 Shakti exclaimed to his friend wi o travel hopefully is a better thing than to
(@) lsamed to: his; friend with T hopefully is a better thing than t
‘[sju;;;_:ariisci1 it;:at there could be a snake arciies and flie e siicai in s lbaus,
enin . :
(3) Seeing a snake behind him, Shakti gl ratIPI}allly
asked his friend to look out. (2) pomlt_we y
(4)  Shakti warned his friend that there was (3) neg 18“-'“100
a snake behind him. (4) carelessly
(5) Not Attempted (5) Not Attempted
VNATH/G1 ¥ 1 & feTe TTet / SPACE FOR ROUGH WORK Page 15
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Choose the correct alternative to improve the
underlined part of the following sentence, If no
improvement is required, your answer is (4),

Passengers are requested not to sit on the floor.

70 fau m farg foehed # A9 1 Y% w9 @ §2
(1)  wepfa i Sfeq i =Ry )
(2) TR WAE R @I
3) FAIRATEARE!

(1) to not sit (4) et B wgum 9 A @R
g; to not tto;i: . (5) R T A
requested to si .
(4) No Improvement 71, {58 gur | vgen 98 JHH &, 38 FEaE -
(5) Not Attempted (1) wHIE
66, -1 A Hat HRE H I & ? o
3) fam
(1) % 3w e ad @it 81 (4) R
(2) SEA ER F T Y " (5) I E & A |
3) fEai i gsH! 7Vﬁqwmﬁmﬁaﬂ=ﬁmmm%?
(4) HYSd WA LI (1) e
(5) SR TE T =R (2) gﬁﬁ
(3)
67~ 'TH 9N H 79 Wa gHI' A & {@ifhd R H @)
waifus I9gaa TaraaTH v § - (5) IR E A amEd |
(1) =fem 73 ‘TW 3R Fea & < 1 Aen’ F forg waifuw sugw
(2) e T IR € -
(3) 3 (1) Tiygfe
@) st (2) =R
=med (3) T
(5) SO AE o 9| @ -
68« ‘a7 ey ¥ A Y A ATl Ve T € - (5) W AE IR
(1) dH 74, ‘Fr+3mN’ F AW | I Fren waituE I9gE W@
2) T@H ®-
@) &= (1) fsmm
o T i
(5) ZaT el <1 =T | - @)
69 .Wﬁaﬁ%@ﬁgﬂﬁaﬂ’mmaﬁ (5) SWAE = EE
e & T & 75, ‘“aEd M H T 9 R s
(1) T S Ry Eakscliea
(2) I AR (1)  tfurefys s=ifa =)
3) WWW (2) TEYE w1 F G99 FE@T)
(4)  TAETHT STARR H (3) W T Y I3
(5) SR & &1 §wed | (4) ofe e A w1y o
(5) S & T =
VNATH / G1
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il

LTl

Tyaﬁaﬁmﬁﬁmw%ﬁémm

<fearon & ferert Foret €2
(. =
@ 22
@ 23
(4) 24
(5) ST S A |

7, T GENME (T G ) &5 e & freafefian
ﬁ#ﬁ—»mmﬂﬁ%’

(A) T TE S TR e e §
B T T S el T e ¥ frdAomi &
I | | B9/ A wE R/ E?

(1) e (A)

() %9 (B)

3) (A) 3R (B) A

(4 AW (A) A (B)

(5) SO TE I AR |

Famm # e ' ?

(1)

2 fea=r

(3) IFHRA

(4)

(5) SR e & e |

79 mmﬁm%mmwwwm

76.

7.

78.

79.

How many districts are there in Haryana >

(1) 21
2 22
(3) 23
4) 24
(5) Not Attempted

Consider the following statements in respect

of National Security Guards (NSG) :

(A) Operational Headquarter of NSG is in
Manesar.

NSG comes under the control of Union

(B)
Ministry of Home Affairs.

Which of the above statements is/are
correct ?

(1) (A)only

(2) (B)only

(3) Both (A)and (B)

(4) Neither (A) nor (B)

(5) Not Attempted

In which month of the year, the famous
Surajkund mela is held every year in
Haryana ?

(1) March

(2) December

(3) October

(4) February

(5) Not Attempted

In the Mahabharata period, which term was
used for Haryana ?

(1) Haribanak

(2) Bahudhanyakya
(3) Hariyala

(4) Haryanak

(5) Not Attempted

g

™% ?

(1) efE®

(2) wEYEIH

(3) wRE

(4) wRETH

(5) e & = |
VNATH/G1
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R SRR TR TR R R W R e . BT TN AR AR

80,

frisie %t wrei ferra =) g 33 & fo gfoad 3
aﬁmamwratwﬁrmmﬁﬁﬂﬁmwm
¢, 90 TEea FR-T R ?

(1) Hauwea
(2) W HEEE
(3) ™ 9Erwa
(4) g WA
(5) IWAE M AR
81/ frefafaa § @ ¥ g 1 1 e, 79 37
EREICERE I ¥
(1) &t sfa fa=
(2) &t FE A
(3) & @ ug v
(4) 5 g e
(5) SWAE I AN
83, W& Wil Wifavita T dran gr farat afordi @
-1 J Ffa Frd w0 &gy frart =1 shifa
fFm s &?
(1 2
2 3
@) 4
4 S
(5) IWTE M AwA
83, frafafaa # @ ¥\ waw efmmm s ta gu &2
(1) FORF Y
(2) i SR
(3) IMFIY
(4) wE gy
(5) I E W AEEd |
VNATH/G1

81.

82.

830

To promote the ancient Heritage of Pinj%‘_lf
two festivals are held every year. One is the
‘Pinjore Heritage festival’; which is the secong
one ?

(1) Orange festival
(2) Dates festival

(3) Mango festival
(4) Lemon festival
(5) Not Attempted

Who among the following is the Minister of
Environment, Forests and Wildlife of Haryana
State ?

(1) Shree Anil Vij

(2) Shree Kanwar Pal

(3) Shree Mool Chand Sharma
(4) Shree Dushyant Chautala
(5) Not Attempted

Mukhya Mantri Pragatisheel Samman Yojana
is to motivate the progressive farmers for
adopting best agriculture practices in how
many categories of land holding ?

my 2

2 3
B 4
4 S

(5) Not Attempted

Which amongst the following is the State Tree
of Haryana ?

(1) Banyan Tree
(2) Sacred Fig

(3) Mango Tree
(4) Sal Tree

(5) Not Attempted

% 14 & fT0 74791/ SPACE FOR ROUGH WORK
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84,

() T Y My gy g,
@) S Y e g
ﬂﬁﬁﬂm-mlﬁmwtﬂ?
(1) 9 (A)

@ Fad(B)

(3)  (A) 3 (B) 3

(4) AW (A) I g

(5) I TE M wm,

fad @i 2022-23 & fog, Lic BT R
e 1 =34 1 e sl s faan ey 82
(1) 14.2% '

2 62%

3) 8.5%

(4) 5.8%

(5) I T TN A=
frafafes Fui w fa=m #ifw .

(A) W 3 TR # i e % W
4

(B) Tedw %t ¥ foceh | 78 ot &)

I A A FA-T A FE G T
(1) %€ (A)
(2) e (B)

3)  (A) 3R (B) 3
4) F@(A) FRIE (B

84,

Consider the following statements :

(A) Rohtak has a Police Commissionerate
located there.

(B) Sonipat has a Police Commissionerate
located there.

Which of the above statements is/are
correct ?

(1) (A) only

(2) (B)only

(3) Both (A)and (B)
(4)  Neither (A) nor (B)
(5) Not Attempted

For the financial year 2022-23, what is the
percentage of the total expenditure allocated
towards Health in the Haryana State ?

(1) 14.2%

2) 6.2%
(3) 85%
4) S5.8%

(5) Not Attempted

Consider the following statements :

(A) Sonipat and Jhajjar share border with
Delhi.

(B) Rohtak does not share border with Delhi.

Which of the above statements is/are
correct ?

(1) (A) only
(2)  (B)only
(3) Both (A)and (B)

(5) S TE A (4)  Neither (A) nor (B)
(S) Not Attempted

87, i fm T & sala €2

(1) T9=m 87. Neemrana comes under which State ?

(2) wfemn (1) Rajasthan

) (2) Haryana

5 T (3) Punjab

4) SWEs (4) Uttarakhand

(5) IR TE & FEd | (5) Not Attempted
VNATH/G1 75 o & feu 7@ | SPACE FOR ROUGH WORK Page 19
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88/ efamn we § T g 9 faa | € 7
(1 8 :

2 7
(3 6
@ S

(5) SO E A= |

89,/ frafafas wu=i w fa=r #ifo :
(A) T WifEa TEgRT s | ¥
(B) 1 Wifea Tegr WR 74 F T W

88.

89.

Sabha seats does Harygmz

How many Rajya
1

have ?

(1 8
@ 7
3 6
4 S5

(5) Not Attempted

Consider the following statements :

(A) Nada Sahib Gurudwara is situated in
Ambala.

(B) Nada Sahib Gurudwara is situated on

g H A FA-w/Q Fv v@ E/E?
(1) *ad (A) the bank of river Ghaggar.
- Which of the above statements is/are
(2) (B) correct ? A
3) (A) 3 (B) T (1)  (A)only
(4) A (A) R (B) (2) (B)only A
(5) IR TE AR (3) Both(A)and (B)
(4) Neither (A) nor (B)
9q. o ford # wreda g v farvafaraerd ferd &2 (5) NotAttempted
(1) ¥ 90. In which district is the Indian National
(2) TEIH Defence University located ?
(3) HITER (1) Panchkula
4 FEA (2) Gurugram
R (3) Faridabad
(5) SR TE & W | " Easal
. 5 A
o1, <y it prs wifea ofcd ; * frg (5) Not Attempted
fo 522 91. Indira Gandhi Super Thermal Power Project
(1) &= is situated in which district of Haryana ?
(2) fawn (1) Jhajjar
fram (2) Sirsa
G fz (3) Hisar
() _ B (4) Jind
(5) S TE <A = | (5) Not Attempted
92, Tifee <t v & ¥ foq wfag €72 92. Garima Chaudhary is well known for which
I o Apmece
w (1) Judo
@) : (2) Kabaddi
@ 3 5 (3) Wrestling
(4) TR (4) Archery
(5) SR TE T e | (5) Not Attempted
VNATH/G1 <% T % feT0 7aTet / SPACE FOR ROUGH WORK Page 20
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N

frefarad 4/ .
%Y ama? m!ﬁmﬁmﬁwma
(1) uft=t fag
2 FEa
3) BUEELRID G
(4) HER a9
(5) I T M Em
04, e fee o 4 fem 3
1y f=
(2
(3) TR
4) Jea®
(5) T TE W TR
o5, Frerfefan 3 4 wfeamn ) a4 7 et v
FAafa A gEg ®?
(1) Y5«
(2) =
(3) M
(4 T
(5) O AR AR |
96 TerEe]  Wea' & Tt i € 2
(1) ¥H
(2) wfae™
(3) weft arifs
(4) el a<a™
(5) IR AH & =

9'r/ﬁmfaﬁaaﬁﬂ'mzﬁwﬂ%mmm
focti § € O 7@ §?

93.

95.

97.

Who amongst the following did not play for

Haryana in Ranji Trophy ?
(1)  Maninder Singh

(2) Kapil Dev

(3) Rajinder Goel

(4) Sarkar Talwar

(5)  Not Attempted

In which district is Narnaul situated ?

(1)
@)
3)
4)
(5)

Jind

Kaithal
Mahendragarh
Rohtak

Not Attempted

Which of the following dance forms of Haryana
is associated with Mewati tribe ?

(1)
)
B)
)
()

Dhamal
Ratvai
Phag

Gugga
Not Attempted

Who was the author of epic ‘Mahabharata’?

(1)
(2)
@)
4
(5)

Magh

Kalidas

Maharishi Valmiki
Maharishi Vedvyasa
Not Attempted

Which one of the following is not amongst the
major cotton growing districts of Haryana ?

(1) Sirsa
(1) fo (2) Sonipat
(2) EHE (3) Ambala
(3) 3t (4) Rewari
(4) @@ (5) NotAttempted
ket zq;mdasi%mm:smceroanouenwonx Page 21
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NN AT AR Y] RN TR | ——

98¢ HFH T e TG (1 v B 0) Fam H Fr=feafaa
FoAl W faan #ife

(A) TEmME N wA AR FN WG]

Afu= #)

(B) U™ Wi W € @ efmmn F A @ A G
afir B

ST A A BH-F/ A FoA @ /%2

(1) &= (A)

(2) = (B)

(3)  (A) 3R (B) I

@) A (A) SRAE (B)

(5) S E T AEEd )

99 ‘3z’ Ay wfmm f§ frm i w2

(1) 3gm

(2) wifesn

(3) =

(4) ¥R

(5) T T &

100, & H Afecrsi gr getel Te YRR F frw wmr

T ST 2 2
(1) A
(2) =
B W

(4) =

(5) I AE & HRd |

-00o0- ]

B

98. Consider the following statements about G

To
State Domestic Product (GSDP) : >

(A) GSDP of Haryana is more than that of

Bihar,
(B) GSDP of Punjab is more than that of
Haryana.
Which of the above statements is/are
correct ?
(1) (A)only
(2) (B)only

(3) Both (A)and (B)
(4) Neither (A) nor (B)
(5) Not Attempted

99. ‘Ottu’ barrage is on which river in Haryana ?
(1) Yamuna

(2) Sahiba
(3) Tangri
(4) Ghaggar

(5) Not Attempted

100. Boojali, an ornament is worn in which part of

the body by women in Haryana ?

(1) Ears

(2) * Forehead
(3) Foot

(4) Nose

(5)  Not Attempted
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